g( (@) @ ‘ ) (( & Kerro desimaalit kymmenelld negatiivisella
6060 * x ¥

potenssilla
Nimi: Pdivéimadrd: __ Pisteet: ___

9810, 2 x 0.001 = 9507,3 x0.1 =

6398,9 % 0.001 = 9428,6 % 0.001 =

4023,7x 0.1 = 9966, 4 x 0.001 =

7839,5x0.01 = 3054, 3 x 0.001 =

2313,8 X 0.001 = 2726,3 % 0.1 =

4373,8 x0.01 = 8118,9 x 0.0001 =

1739,4 % 0.0001 = 2083, 8 x 0.001 =

1377,3 % 0.001 = 6092,5x0.1 =

4036,7 % 0.1 = 4590,3 x 0.01 =

7334,4x 0.1 = 8100, 8 x 0.01 =
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& @5 C@( ( & Kerro desimaalit kymmenelld negatiivisella
060 * x ¥

potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
9810,2 x 0.001 =9.8102 9507, 3 x 0.1 =950.73
6398,9 x 0.001 = 6.3989 9428, 6 x 0.001 = 9.4286
4023,7 x 0.1 = 402.37 9966, 4 x 0.001 = 9.9664
7839,5 x0.01 = 78.395 3054, 3 x 0.001 = 3.0543
2313,8 x0.001 = 2.3138 2726,3 % 0.1 =272.63
4373,8 x 0.01 =43.738 8118,9 x0.0001 = 0.81189
1739,4 x 0.0001 = 0.17394 2083,8 x 0.001 = 2.0838
1377,3 x0.001 = 1.3773 6092, 5 x 0.1 = 609.25
4036,7 x 0.1 = 403.67 4590, 3 x 0.01 =45.903
7334,4 x 0.1 =733.44 8100, 8 x 0.01 = 81.008
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